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<R OF [ XHCH = 2 (XY S AFEH E)>

(CHSl: Horel)
2016 = 3/482.7| 2015 = =S ZtoH

13,517 10,926 2,590

188,861 186,409 2,452

620 529 91

150 150 (0)

150,112 165,786 (15,674)

353,259 363,801 (10,542)

141,056 157,511 (16,456)

82,188 90,078 (7,890)

223,243 247,589 (24,346)

57,936 57,936 -

4,771 3,974 797

67,309 54,302 13,007

130,016 116,212 13,804

353,259 363,801 (10,542)
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(EHSl: 290HR)

2016 = 3/42 7| MEz7| Z=ZtoH
AP+ 288,424 271,574 16,850
AYH| & 258,732 257,467 1,265
ol 29,693 14,108 15,585
el 17 155 (138)
A - - -
29,709 14,262 15,447
6,805 3,090 3,715

22,904 11,172 11,732
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HHEHO| I EHE 97 57t W H7| B I EHZE 7992 B7I5t2H
WEHEEHO S EEHF 8022 B7t A 7|2 +=MEHF 78| SISt T S EHF 5192 UAGAS
(EHSl: 290HR])
T& 2016 = 3/4&2 7| HES7| LA
FIHEHZ 214,533 200,870 13,663
I EHZ 143,741 133,261 10,480
A 27,948 26,556 1,392
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1. &5
WE M2 ZUEHRTH109Y BIISIROH et Ao AutEHE 299 IS,
CHR|: B OERL, %, %P)
T2 20161 & 3/457| 2015 & 3/4587| Z=7roH
ShAH A3l (A) 83,182 84,165 (983)
ANt 3 2 (B) 134,549 119,746 14,803
28|12 (A/B) 61.82 70.29 (8.46)
2. AfHH| &
M 2ol ool et #=0| A2t + B2 10Y F7I5IA2H
Y72 EREH R 48Y FIISIRAS
(EH]: B9OHR, %, %P)
T2 20161 & 3/457| 2015 & 3/4587| Z=7roH
= AHRIHI(A) 27,948 26,556 1,392
HeHSE(B) 130,105 123,323 6,782
AtiH|Z(A/B) 21.48 21.53 (0.05)
3. 28xHto|o g
M3 FALB72 daot 28AHH0| B2 M, AHEN 20|42 EXAH0|20| FII6HA S
(EH]: B9OHR, %, %P)
T2 20161 & 3/457| 2015 & 3/4587| Z=7roH
EXtY P a0l(a) 7,684 5,526 2,158
Z 12 EXHAHB) 194,029 190,303 3,726
28 XHH0| 2 E(A/B) 3.96 2.90 1.06
Y22 AMIHZ MRS I |ZEo2 o
*EXG YL EXE AR - EXLA AL
* A2 8RHA: (7| R 8 R + 7| LR ERIA - EXFE Y2 0l) /2
4. K28
I 5 SYRE 5Y 15292 X 7| =0[o A £t FIHE Z0t A0 BII5HAS
(EH[: W BFR, %, %P)
T2 20161 & 3/457| 2015 & 3/4587| Z=7roH
28 XHHA) 202,378 193,365 9,013
EXHEHB) 353,259 350,872 2,387
A2 E=(A/B) 57.29 55.11 2.18
5. Xpibol g
(EH]: B9OHR, %, %P)
T2 2016H & 3/45 7| 2015 & 3/4587| Z=7roH
EXAE=(A) 6,465 4,331 2,134
7|2 EXHH(B) 355,297 344,286 11,011
A= = (A/B) 2.43 1.68 0.75
6. ROA, ROE
T&27| the| E7]201Y F7H1179 A2 2 QI8 ROA B ROE S5t 2
(EF21: %, %P)
T2 2016H & 3/45 7| 2015 & 3/4587| Z=7roH
ROA (Return on Assets) 8.52 4.30 4.22
ROE (Return on Equity) 24.81 13.28 11.53
* AP A ROA = B 7| 20| /(T 2| A O = 2 EXHAEHE 7| T BXHAH/2)* (4/Z M 7| 5)
** A A ROE = B 7| 20| /(T 2| A o = 2 X7 | Rp=+EHE 7| D Xt7|RHR)/2) * (4/ZaHE 7| 3)
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VI. | 2 X5 &

LY 2HE R
Xl 14 7| 20164 09 30 HHXY
A 13 7| 2015 128 31 S XY
Ql7 0 M AOFA| O} A| T E| O L E| C| Bt K| T
(EH2|:HaHl)
1} = 20164 & 3/427 2015 &
Xt At
L.3g 2 oXla 13,517 10,926
1. g WS Rt 13,517 10,926
Il 0l =753 &Rt 188,861 186,409
I E XY R4 69,024 73,327
IV. 7| EFRFAF 81,857 93,138
1. 23i0|a2 79,902 91,408
2. 7|Eb=F A 1,185 1,037
3. R XA 620 529
4. 2R 150 150
5. M= HolA - 14
a 4 F A 353,259 363,801
5 i
| MRl FHF 141,056 157,511
1L X=&Ha 106,209 115,791
2. 0|ZNEEeNEa 34,847 41,720
I 7|EFERY 82,188 90,078
1. 2H0|X33 67,695 82,666
2. 7|El0|X |25 6,270 251
3. O| ¢ & Q1 M| £ X} 6,858 5,871
4. B[220 x4 1,269 1,195
5. 5752 95 95
2 M F A 223,243 247,589
Xt =
== 57,936 57,936
1L X EHAES 57,936 57,936
s e s 4,771 3,974
1.0 =7sSHEH0| 4,771 4,189
2. 7|Ef - (215)
1.o[jA= 67,309 54,302
104 &20/9dF 67,309 54,302
i 2 F A 130,016 116,212
R ES 353,259 363,801




H 14 7| 20164 012 01 Y 2 E{ 20164 092 30Y7HX|
A 13 7| 20154 012 01 Y 2 E{ 20154 092 30Y7HX|
232|470 A OFA|OF T A| ZE| O| A E| Lot = X|

HHaERl)
at = 2016H & 3/45 7| HE =
L g+ 288,424 271,574
1. 23lz240l 214,533 200,870
R e 52,932 53,883
3. 0| Xt£=9) 3,158 3,730
4. 38X Z0[Y 3,348 647
5. Q|&kk}l 1,084 1,187
6. 2|3}=tAt0] Q] 669 476
7. =8| 12,546 10,780
8. 7|Eto|g e+ 153 2
. GHH| 258,732 257,467
1. KHQIZEH| 2 M QI oK (12,153) 8,280
2. 22 ZH|& 143,823 133,345
3. MEHEHE 84,428 77,547
4. EXGHIE 40 45
5. AbeiH| 40,648 37,338
6. Q| BHkp 841 712
7. QztetibE A 1,104 199
8. FE XAt ZHH| 0 0
B0y 29,693 14,108
Iv. JAe|9f 17 155
1 FERHEO[Y 16 -
2. JYeEolY 1 155
V. @HeH| & - -
V1. HolMH| 8 Xtz H 20| 29,709 14,262
Vil HQIMH| S 6,805 3,090
Vi g7|=0]9f 22,904 11,172
IX. 7|Ef=EE&9 797 2,639
X.EmEaol 23,701 13,811
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